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TEST 1
PART ONE:DICTATION(IS MINS. )

Listen to the following passage,All together the passage will
be read to you four times. During the first reading ;which will be
. read at normal speed,listen and try to understand the meaning.
For the second and the third readings,the passage will be read
sentence by sentence,or phrase by phrase,with intervals of 15 to 20
seconds. The last reading will be read at normal speed again and
during this time you showuld check your work.

PART TWOLISTENING COMPREHENSION (25 MINS)

SECTION A

In this section you will hear 10 statements. The statements
will be read ONLY ONCE.

After each statement,you will hear a question. You will then
be given a period of 15 seconds to read the four choices in your
QUESTION BOOKLET and decide which one is the correct an-
swer. Then,in your ANSWER BOOKLET, find the number of
the question and mark you answer by drawing with a pencil a
short bar across the corresponding letter in the brackets.

Now listen to the statements. '

1. A. Sam decided to have a long nap at work.
B. Sam didn’t want to work with a cap.



C. Sam decided to have a long sleep.
D. Sam decided to stay awake.
. A.1 have to rewrite the report.
B. P’ve got the report right.
C. 1 have to write two reports.
D. I've forgotten to write the report.
. A.Tt left at 10.15. B. It left at 9:30.
C. It left at 9.05. D. It left at 10:45.
. A. She is usually on time.
B. She is usually late.
C. She is late again this time.
D. She has never been late.
. A. She doesn’t like the color of this pair of shoes.
B. She doesn’t like the size of this pair of shoes.
C. She doesn’t like black color.
D. She doesn’t like this color,or the black color.
. A. She read the paper and called her friend.
B. Her friend called.
C. Her friend was called in the paper.
D. Her friend called for the paper she was reading.
. A.1/3 of them are going to Boston.
B. They are traveling at 200 miles an hour.
C. They are 100 miles to Boston.
D. They are on the way to Boston.
- A. Because his wife asked him to do so.
B. Because he believed smoking does no harm to himself.
C. Because smokes affected his wife’s health.
D. Because he believed smoking does harm to himself.
. A. Peter is a good student.
B. Peter does anything good.
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C. Peter is a poor student.
D. Peter is a student who does anything good.
10. A.They had a play in the forest.
B. They went picnicking in the forest.
C. They sat playing in the forest.
D. The setting of the play was the forest.

SECTION B

In this section, you will hear 10 short conversations between
two speakers. At the end of each conversation,a third voice will
ask a question about what was said. You will hear both the conver-
sation and the question ONLY ONCE. After you hear each ques-
tion, you will have a period of 15 seconds to read the four possible
answers in your QU ESTION BOOKLET and decide which is the
correct answer. Mark your answer in the ANSWER BOOKLET
by drawing with a pencil a short bar across the corresponding let-
ter in the brackets.

Now,listen to the conversations.

11. A. He believes that it’s the second time she has got married.
B. She should think Tom is the second best man.
C. She should thinking twice about marrying Tom.
D. Tom is thought to be her second husband.

12. A. She got a new job.
B. She asked the man to help her.
C. She helped the man.
D. She did nothing.

13. A.Packing her own groceries.
B. Not enough variety in meats.
C. The unreasonable prices.



14.

15.

16.

17.

18.

19.

20.

D. The attitude of the employees.

A. He needs help to stop drinking.

B. He planned to drink more liquor.

C. He can’t stop drinking liquor.

D. He can’t help buying liquor.

A. 1t is faster.

B. It tells the right time.

C. It is in perfect condition.

D. It tells the wrong time.

A. She doesn’t feel to.

B. It rains so much.

C. She is waiting for her {riend.

D. She wants to go out in the snow.

A. He is so happy because he could go away.
B. He is so happy bacause he made a carriage.

- C. He is so happy bacause he got a new job.

D. He is so happy bacause he became a boss.

A. The man is planning to get advice from others.
B. The man is not going abroad to work.

C. The man has no ideas.

D. The man will not graduate from college.

A. The man likes the combination of the colors.

B. She disagrees with the man.

C. Blue color looks terrible when mixed with pink.
D.Only the kids like the combination of the colors.
A. Write a recommendation.

B. Apply to an American university.

C. Recommend some American universities to the teacher.
D. Just wait.



SECTION C |
In this section, you will hear several news broadcasts from the

BBC and VOA. You will hear them ONLY ONCE. After each
news item, you will hear some questions. You will hear each ques-
tion only once. After you hear each question,you will have 20 sec-
onds to choose the correct answer from the four choices given.
Mark your answer in the ANSWER BOOKLET by drawing with
a pencil a short bar across the corresponding letter in the bracket.

Now listen to the broadcasts.

Questions 21 to 23 are based on the following news item.

21. A. To ask for more financial help.
B. To strengthen relations between the two countries.
C. To go for sightseeing.
D. To talk about the presidential election.

22. A.Karimov. B. Uktor. -
- C. Akihito. D. Saidakasymov.

23. A. Tsutomu Hata. B. Michido.

. C.Sultanov. D. Akihito.

Questions 24 to 26 are based on the following news item.

24. A.23.3%. B.32.3%.
C. 33.2%. D. 22 3%.

25. A. 1989. B. 1994.
C. 1990. D. 1988.
26. A. It signifies their certain failure.
B. It signifies the unjustness of the election.
C. It signifies the possibility of other parties’ winning of the
5



election.
D. It signifies Balladares’s winning of the election.

Questions 27 to 28 are based on the following news item.

27. A. Different opinions,different views on what kind of Russia
. they need. -
B. The. a¢h_ieVément of c‘ivic',pevace in Russia.
'C. A giarantee of a two-year period of political peace.
D. The refrain from violence.
28. A. The signing of the civic accord and its importance.
B. The guarantee of a two-year period of political peace.
C. The government’s concentration on economic revival.
D. President Yeltsin’s strengthening in power.

Questions 29 to 30 are based on the following news item.

29. A.Other deputies return to the parliament.
B. The political storm be stopped. -
C. The media continue the propaganda.
D. A broadcaster be taken off the airwaves. .
30. A. The terrible voice of the broadcaster.
B. The storming out measures.
C. Lies and libel in the media.
D. The Russian reform.



TEST 2
PART ONE:DICTATION (15 MINS. )

Listen to the following passage,All together the passage will
be read to you four times. During the first reading ,which will be
read at normal speed,listen and try to understand the meaning.
For the second and the third readings,the passage will be read
sentence by sentence ,or phrase by phrase ,with intervals of 15 to 20
seconds. The last reading will be read at normal speed again and
during this time you should check your work.

PART TWO:LISTENING COMPREHENSION (25 MINS)

SECTION A

In this section you will hear 10 statements. The statements
will be read ONLY ONCE.

After each statement, you will hear a question. You will then
be given a period of 15 seconds to read the four choices in your'
QUESTION BOOKLET and decide which one is the correct an-
swer. Then,in your ANSWER BOOKLET, find the number of
the question and mark you answer by drawing with a pencil a
short bar across the corresponding letter in the brackets.

- Now listen to the statements.

1. A.They couldn’t get in,
B. They couldn’t get good seats.
C. They couldn’t get any tickets.
D. They couldn’t get any seats.
2. A.It’s generally a good one,



B. One small detail should be added.
C. The details are not important.
D. It’s generally a bad one,only details 3re good.

3. A. Sally. B. John.
C. Polly. D. Tom,
4. A.13-15. B. 15—109.
C. About 20. D. We don’t know for sure.

5. A. The match was on time. ‘
B. Nobody came to the match because of bad weather.
C. The match was good.
D. The match was delayed.
6. "‘A. One hour and fifteen minutes.
B. Exactly one hour.
C. One hour and a half.
D. Two hours.
7. A.The test was hard. B. The day was hard.
C. The test was easy.  D. The day was real. -
. 8. A.It was believable.
B. It was hard to believe.
C.1didn’t believe it.
D. I didn't see with my own eyes.
9. A. The teacher is never late.
B. The late ones are not teachers,
C. The teacher is late.
D. I thought the teacher was delayed by the class.
10. A. They couldn’t hear the speaker because they sit next to
him.
B. They didn’t sit next to the speaker,so they heard him.
C. They sit next to the speaker so that they could hear him.
D. They sat next to the speaker,so he heard them.



